

Sales Office Bagco Limited, Unit 3, Churchill Court, Hortons Way, Westerham, Kent, TN16 1BT

Telephone 01959 560500 **Fax** 01959 563034

Accounts/Warehouse Booth Brothers Printing Limited, Bullhouse Mill, Lee Lane, Penistone, Sheffield, South Yorkshire, S36 9NN

Telephone 01226 372700 **Fax** 01226 370224

BagCo Contact Nigel Pearce

Email nigel@bag-co.co.uk

Purchase Order ID 10623

Order Date 5 Apr 2023

To Xiamen Fei Fei Bag Manufacturing Co Ltd

Address 3F, No 1 Xinguang Rd,, Xinyang, Haicang, Xiamen 361022

Deliver ToBooth Brothers Printing Limited

Address Bullhouse Mill, Lee Lane, Penistone, Sheffield, South Yorkshire S36 9NN

Country United Kingdom

Payment T/T against copy of shipping documents by email.

Order Confirmation Requested as Proforma-Invoice by fax for each part-shipment & article & signed copy of this contract.

Packing All pieces together to be wrapped with poly plastic into an export carton marked with Bagco Logo.

Shipping Marks See below

Shipping Method

Forwarder

Remarks 1. All over cartons must be marked with our shipping mark ON TWO SIDES.

2. Goods and packing strictly neutral without any label indicating supplier name.

3. By acceptance of this order it is herewith confirmed that execution/design won't infringe any existing patent, ie. all consequences of infringement will be borne by supplier.

4. We require that all fabrics and dyes be AZO/Cadmium Free - your compliance is assumed.

Goods to be inspected before shipment. Without our approval, no goods to be shipped, and Balance payment withheld.

6. All items based on final/master sample supplied/approved.



From: Bagco Limited UK To: Xiamen Fei Fei Bag Manufacturing Co Ltd 361022

Product ID	Colour	Tariff	Quantity	Unit Price (USD \$)	Total Pric	
Product: Rainham 6 Can Cooler						
Budget 6 can cooler bag made from partly recycled REACH compliant* 80 gsm Non Woven Polypropylene with a front slip pocket, carry strap and insulated lining material. Food Safe certified (H)15x(W)23x(D)14.5 cms - 80gsm Polypropylene						
Supplier Ref: B1430						
Packing: 100pcs/34x48x45cm						
B8570	Blue Bright	4202 92 98 90 (MID CODE CNXIAFE101XIA)	2000	0.68	1360.	
Shipping Mark						
10623 / B8570 Rainham 6 Can Cooler - Blue Bright 100 pcs/ctn C/No of 20						

em	Product ID	Colour	Tariff	Quantity	Unit Price (USD \$)	Total Price (USD \$)		
	Product: Rainham Drawstring Bag							
	Environmentally friendly drawstring back sack bag. Made from partly recycled REACH compliant* 80 gsm Non Woven Polypropylene - (H)45.5x(W)37 cms - Polypropylene							
	Supplier Ref: B1310							
	Packing: 250pcs/51x42x40							
	B8711	Black	4202 92 91 90 (MID CODE CNXIAFE101XIA)	5000	0.31	1550.00		
	Shipping Mark							
		10623 / B8711 Rainham Drawstring Bag - Black						
		250 pcs/ctn C/No	of 20					



Total Price (USD \$	Unit Price (USD \$)	Quantity	Tariff	Colour	Product ID	m		
			Bag	am Lunch Cooler	Product: Rainh			
	Budget lunch cooler bag made from partly recycled REACH compliant* 80 gsm Non Woven Polypropylene with a front slip pocket, carry strap and insulated lining material. Food Safe certified (H)25.5x(W)20.5x(D)15 cms - Polypropylene							
	Supplier Ref: B1442							
	Packing: 100pcs/45x55x42cm							
1320.0	0.66	2000	4202 92 98 90 (MID CODE CNXIAFE101XIA)	Black	B8611			
				Shipping Mark				
			ch Cooler Bag - Black	10623 / B8611 Rainham Lunch Cooler Bag - Black 100 pcs/ctn				
					(b)			





Item	Product ID	Colour	Tariff	Quantity	Unit Price (USD \$)	Total Price (USD \$)		
8	Product: Marde	n' Cotton Lunch Cod	oler					
	Eco 6oz Cotton Lunch cooler with cotton webbing handles. Velcro closure and a handy front pocket. Food Safety Certificates available (H)25.5(W)20.5x(D)15 cms - 6oz Cotton							
	Supplier Ref: N//							
	Packing: 100pcs	:/45x55x42cm						
	B9882	French Navy	4202 92 98 90	2000	1.18	2360.00		
	Shipping Mark							
		10623 / B9882 Marden' Cotton Navy 100 pcs/ctn C/No.	Lunch Cooler - French of 20					





m	Product ID	Colour	Tariff	Quantity	Unit Price (USD \$)	Total Price (USD \$)		
	Product: Kingsgate' Drawstring Bag							
	Quality recycled Drawstring backsack bag made from REACH compliant 210d rPET. Metal eyelets and reinforced PU corners (H)42x(W)34 cms - 210d R-Pet							
	Supplier Ref: N/A							
	Packing: 300pcs/47x39x35cm							
	B5360	Royal Blue	4202 92 91 90	5100	0.47	2397.0		
	Shipping Mark							
	10623 / B5360 Kingsgate' Drawstring Bag - Royal Blue 300 pcs/ctn C/No of 17							

